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[ 115.0K ] = 0.000 = 1.234 = 237.668
= 310.111 = 316.196
2007.01.25 GTS-310 CE0934 T.TANAKA
5 980 hPa -0.6 ppm
:TP = 1.440 = 0.000 TH= 310.164
-1.799 310.164
LO1 0.000 124 49 40 2.280 -3.670 310.301
L02 0.000 8331 0 2.410 -4.193 311.876
LO3 0.000 83 31 20 2.600 -4.382 311.897
LO4F1.1 0.000 67 2 20 3.040 -4.598 312.790
P 0.000 1.100 -4.598 313.890
P 0.000 -1.100 -4.598 312.790
LO5CET3.3 1.000 60 51 0 4560 -5.781 312.825
LO5CET3.3 1.000 60 51 0 4.560 -5.781 312.825
P 5.250 0.000 -11.031 312.825
P 0.000 0.000 -11.031 312.825
P 0.250 0.000 -11.281 312.825
P 0.000 -0.250 -11.281 312.575
P 0.250 0.000 -11.531 312.575
P 1.050 3.400 -12.581 315.975
P 3.000 0.000 -15.581 315.975
;TP = 1.440
-1.799 310.164
0.000 116 12 20 3.380 1.234 310.101
= 0.010 TH= 310.111
RO1 0.000 11550 0 3.460 1.316 310.096
RO2CE 1.470 11550 0 3.460 1.316 308.626
RO3F1.1 1.100 115 11 50 4.540 2.309 308.571
P 0.000 1.100 2.309 309.671
P 0.000 -1.100 2.309 308.571
LwP 1.100 114 11 0 5.020 2.781 308.317
= 0.130 TH= 308.447
RWP 0.000 90 50 10 228.970 227.147 308.122
= 0.140 TH= 308.262
RO4 1.900 90 16 50 232.280 230.479 308.566
RO5CB 1.900 90 6 50 235.110 233.311 309.236
RO6 1.900 90 2 40 235.460 233.661 309.521
RO7 1.900 90 2 30 235.830 234.031 309.532
RO8 0.000 88 54 30 240.520 238.678 316.186
0.000 88 54 10 240.750 238.907 316.214
= 0.000 TH= 316.214
RO9 1.150 88 38 10 243.820 241.952 316.257

R10 1.000 88 38 10 243.820 241.952 316.407
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